



	E → A EE EE.st = A.val E.val = EE.val
LL(1) Attribute	$\begin{array}{llllllllllllllllllllllllllllllllllll$
Grammar	$ \begin{array}{l} \textbf{EE} \rightarrow \textbf{e} \\ \textbf{EE.val} = \textbf{EE.st} \end{array} $
	$\lambda \rightarrow B \lambda \lambda$ $\lambda \lambda.st = B.val$ $\lambda.val = \lambda \lambda.val$
	$\lambda A_1 \to {}^{\wedge}$ B $\lambda A_2$ $\lambda A_2.st = \lambda A_1.st {}^{\wedge}$ B.val ( $``_{'}''$ bitwise XOR ) $\lambda A_1.val = \lambda A_2.val$
	λΑ - ε λΑ.val = λλ.st
	$B \rightarrow C BB$ BB.st = C.val B.val = BB.val
	$BB_1 \rightarrow \& C \ BB_2$ $BB_2.st = BB_1.st \& C.val \qquad ( ``\&'' bitwise \ AND ) \\ BB_1.val = BB_2.val$
	$BB \rightarrow \epsilon$ BB.val = BB.st
	$C_1 \to < C_2$ $C_1 , val = C_2 , val << 1 \qquad ( ``<<'' bitwise shift left one )$
	$C_1 \to > C_2$ $C_1.val = C_2.val >> 1 \qquad ( ``>>'' bitwise shift right one )$
	$C_1 \to -C_2$ $C_1 . \texttt{val} = -C_2 . \texttt{val} \qquad ( ``~'' \texttt{ bitwise NOT })$
	C → (E) C.val = E.val
	C → hex 3 C.val = hex.val









- Write a lexical analyzer
  - You may need to define an enum type for all possible tokens your scanner can generate
  - E.g., when reading hexadecimial numbers
     0-9 or a-f, the recognized token is HEX, and the value is saved in HexNumber

N. Meng, S. Arthur



9

## Hints

• There are parameters passed in or returned when invoking functions. When invoking a function, the synthesized attribute is the return value, while the inherited attribute is the passing-in parameter

N. Meng, S. Arthur



























Small-Step Operational Semantics [3]		
n is the sum of $n_1$ and $n_2$	n is the product of $n_1$ and $n_2$	
n₁ + n₂ -> n	n₁ * n₂ -> n	
<i>e</i> <sub>1</sub> -> <i>e</i> <sub>1</sub> '	e <sub>2</sub> -> e <sub>2</sub> '	
$e_1 + e_2 \rightarrow e_1' + e_2$	$n_1 + e_2 \rightarrow n_1 + e_2'$	
<i>e</i> <sub>1</sub> -> <i>e</i> <sub>1</sub> '	e <sub>2</sub> -> e <sub>2</sub> '	
$\mathbf{e}_1 \mathbf{*} \mathbf{e}_2 \mathbf{\rightarrow} \mathbf{e}_1 \mathbf{*} \mathbf{e}_2$	$n_1 * e_2 \rightarrow n_1 * e_2'$	
• The semantic rules tell not only the operator		
meanings, but also evaluation orders		
• E.g., $(1+2) + (3+4) = 33 + 33 + 33 + 33 + 33 + 33 + 33 + 3$		













- Both denotational semantics and operational semantics are defined in terms of state changes in a virtual machine
- In operational semantics, the state changes are defined by coded algorithms in the machine
- In denotational semantics, the state change is defined by rigorous mathematical functions

N. Meng, S. Arthur

29









Example Semantic Rules			
Syntax Rules	Semantic Rules		
<pre><bin_num>-&gt;'0' <bin_num>-&gt;'1' <bin_num>-&gt;<bin_num> '0' <bin_num>-&gt;<bin_num> '1'</bin_num></bin_num></bin_num></bin_num></bin_num></bin_num></pre>	<pre>M<sub>bin</sub>('0')=0 M<sub>bin</sub>('1')=1 M<sub>bin</sub>(<bin_num> '0')= 2*M<sub>bin</sub>(<bin_num>) M<sub>bin</sub>(<bin_num> '1')= 2*M<sub>bin</sub>(<bin_num>)+1</bin_num></bin_num></bin_num></bin_num></pre>		
N. Meng, S.	Arthur 34		



